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B¥7I EE = 2E tiBE | SRR | &F8 | EHR | AR | LER | #ER | TR | AR | HER | BER | TEER | ZRE |58
(1)ZIRPEEEL 1,347 15 9 13 35 21 18 13 38 45 24 36 21 22 49
(2)FRIHBREISEE 902 6 7 10 26 12 13 9 26 23 6 24 14 17 32

FH - R CEFEIR
(3) IR EIBEE 512 4 1 6 24 10 6 2 12 23 7 9 6 7 17
(4R TESIREEK 430 2 1 6 20 9 5 2 10 15 2 8 6 7 13
(5)ZIRPEEEL 36 0 1 1 1 0 1 1 0 2 3 0 0 0 0
FREREBROHZAR
(6)FRIHEREISE K 12 0 0 0 0 0 0 0 0 1 0 0 0 0 0
(7)RAEEPEE 267 1 0 5 1 1 8 3 2 4 8 11 6 4 7
ERGRERDH AR
(8)RILHEREIZE K 112 1 0 3 1 1 6 1 1 1 3 2 1 1 0
o 9)ZIREPFEE L 79 0 1 1 2 1 1 0 0 1 1 3 0 1 4
e I Rt
(ERIRERDHZ1R) .
(LO)IRBEARTE SHEEER 43 0 0 1 1 1 0 0 0 0 1 2 0 1 0
N 11)ZAREEEL 816 5 3 9 11 11 13 7 18 41 18 36 26 12 38
S bt
EIGRERDHZAR
(R =R o e 346 1 1 5 7 4 8 1 9 23 9 12 6 5 16
ARk (13)ZARPFEH(AARESIEEL) 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
14)ZIREAFEE
SRR (1) HRFERE 2,545 21 14 29 50 34 41 24 58 93 54 86 53 39 98
(1)+(5)+(7)+(9)+(11)+(13)
15 == RmE
(I5)FHERHBED 1,462 15 11 15 38 22 20 14 38 48 28 39 21 23 53
(1)+(5)+(9)
16) FRIAIRES
2] (1e)FHEIEEN 957 6 7 11 27 13 13 9 26 24 7 26 14 18 32
(2)+(6)+(10)
(17)FRIEtER
(16)/(15) 65.5%| 40.0%| 63.6%| 73.3%| 71.1%)| 59.1%| 65.0%| 64.3%| 68.4%| 50.0%| 25.0%| 66.7%| 66.7%| 78.3%| 60.4%
- 1 ZIREAEES
g (18)REZRPHEL 2,430 21 12 27 47 33 39 23 58 90 50 83 53 38 94
(1)+(7)+(11)
19 &
£S5 (O)REEHEED 970 6 2 14 32 15 20 4 22 47 19 23 13 13 33
(3)+(8)+(12)
Y =5
(Zo)f?)/‘:('i)* 39.9%| 28.6%| 16.7%| 51.9%| 68.1%| 45.5%| 51.3%| 17.4%| 37.9%| 52.2%| 38.0%| 27.7%| 24.5%| 34.2%| 35.1%
i 21 REEIRESIRES
BRIt (21 ERERIE SRS 819 3 2 12 28 14 13 3 19 38 12 22 12 13 29
(4)+(10)+(12)+(13)
22)REIRTESIRE
BIRE (%) ( )i?;fi?*gx 32.2%| 14.3%| 14.3%| 41.4%| 56.0%| 41.2%| 31.7%| 12.5%| 32.8%| 40.9%| 22.2%| 25.6%| 22.6%| 33.3%| 29.6%
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B¥7I EE = 2E FRR | ELR | AR | BHE | LHER | BFR | RKBE | HFER | BNR | =58 | #ER | REF | ARG | 2ER | KRR (IR
(1) ZHREPFFEEE 1,347 29 25 14 17 12 37 29 110 206 75 46 9 65 108 7 4
(2)FRIHBREISEE 902 17 19 7 15 8 25 23 77 151 49 30 8 44 67 6 3
FR - ERREEFIR
(3)ERGREREIREL 512 8 6 5 6 5 21 13 44 76 24 22 3 29 42 2 1
(4R TESIREEK 430 8 6 5 6 4 17 12 40 65 21 19 3 27 30 2 1
(5)ZIRPEEEL 36 2 1 1 0 1 1 2 3 4 0 0 1 3 1 0 0
FREBRDHZAE
(6)FRIHEREISE K 12 1 1 0 0 0 0 1 0 3 0 0 0 1 1 0 0
(7)ZIREEEL 267 5 2 4 2 8 8 6 26 31 6 11 6 14 12 1 3
ERRBRDHZHE
(8)RILHEREIZE K 112 2 1 3 1 4 1 1 12 13 2 4 1 7 5 0 1
. 9)ZAREAFEE 79 4 0 2 1 0 3 3 2 17 2 5 0 6 8 0 0
e i
(ERIRERDHZ1R) N
(10)EERTESIZE 43 2 0 1 0 0 0 1 1 10 1 4 0 3 6 0 0
11)ZIREBEEL 816 10 30 13 10 16 23 17 85 89 22 29 5 34 41 5 3
T b
ERGREBRDH TR
( . =) (12)FHEEARTE SR B 346 4 15 5 2 9 8 7 37 37 11 12 2 13 17 1 0
[iavaplcs (13)ZARPFEH(AARESIEEL) 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
14)ZIREAFEE
T G 2,545 50 58 34 30 37 72 57| 226| 347| 105 91 21 122|170 13 10
(1)+(5)+(7)+(9)+(11)+(13)
15 == RmE
(I5)FHERHBED 1,462 35 26 17 18 13 41 34 115 227 77 51 10 74 117 7 4
(1)+(5)+(9)
16) FRIAIRES
2] (1e)FHEIEEN 957 20 20 8 15 8 25 25 78 164 50 34 8 48 74 6 3
(2)+(6)+(10)
(17)?*21@%:—,2—* 0 () 0, 0, 0 0, 0, 0 0 0, 0, 0 0 0, 0, 0 0
(16)/(15) 65.5%| 57.1%| 76.9%| 47.1%| 83.3%| 61.5%| 61.0%| 73.5%| 67.8%| 72.2%| 64.9%| 66.7%| 80.0%| 64.9%| 63.2%| 85.7%| 75.0%
. 18) IR ALY
g (18)REZRPHEL 2,430 44 57 31 29 36 68 52 221 326 103 86 20 113 161 13 10
(1)+(7)+(11)
19 &
ES57 (O)REEHEED 970 14 22 13 9 18 30 21 93 126 37 38 6 49 64 3 2
(3)+(8)+(12)
(20)EHEIREK
(19)/(18) 39.9%| 31.8%| 38.6%| 41.9%| 31.0%| 50.0%| 44.1%| 40.4%| 42.1%| 38.7%| 35.9%| 44.2%| 30.0%| 43.4%| 39.8%| 23.1%| 20.0%
i 21 REEIRESIRES
st |(GEBRESHESS 819 14 21 11 8 13 25 20 78 112 33 35 5 43 53 3 1
(4)+(10)+(12)+(13)
22)REIRTESIRE
BIRE (%) ( )i?;fi):'*gl 32.2%| 28.0%| 36.2%| 32.4%| 26.7%| 35.1%)| 34.7%| 35.1%| 34.5%]| 32.3%| 31.4%| 38.5%| 23.8%| 35.2%| 31.2%| 23.1%| 10.0%
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B¥7I EE = 2E EHRE | BBE | MUR | ZBRE | WAR | #BE | IR | SRR | =8 | EEE | £ER | RBRE | AR | ADE | ZRE EESRE| e
(1)ZIRPEEEL 1,347 3 3 35 32 17 4 5 16 2 31 6 1 16 16 4 3 1
(2)FRIHBREISEE 902 1 3 22 19 13 2 5 13 1 20 5 0 10 10 2 2 0
FR - ERREEFIR
(3)ERGREREIREL 512 0 0 13 13 5 1 2 10 0 10 3 1 5 4 2 2 0
(4R TESIREEK 430 0 0 8 11 5 1 2 10 0 7 3 0 4 4 2 1 0
(5)ZAREPFBE 36 0 0 1 1 0 0 0 1 0 2 0 0 0 0 0 0 1
FREBRDHZAE
(6)FRIHEREISE K 12 0 0 1 0 0 0 0 1 0 1 0 0 0 0 0 0 0
(7)ZIREEEL 267 1 0 19 10 2 1 4 1 0 6 0 3 9 3 2 0 0
ERRBRDHZHE
(8)RILHEREIZE K 112 0 0 14 5 0 0 2 1 0 3 0 1 3 1 2 0 0
o 9)ZIREPFEE L 79 0 0 1 2 1 0 0 1 0 4 0 0 1 0 0 0 0
e I Rt
(FRRROHTR) e .
(10)EERTESIZE 43 0 0 0 2 1 0 0 1 0 2 0 0 1 0 0 0 0
o 11)BREEEL 816 2 7 16 45 9 5 5 13 1 8 1 1 12 5 3 3 0
S bt
ERGREBRDH TR
( . =) (12)FHEEARTE SR B 346 1 3 10 13 4 2 4 8 0 5 1 0 4 1 1 2 0
[iavaplcs (13)ZIREPFEE AR TESIRER) 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
14)ZIREPFEEE
RIS (1) HRFERE 2,545 6 10 72 90 29 10 14 32 3 51 7 5 38 24 9 6 2
(1)+(5)+(7)+(9)+(11)+(13)
15 == RmE
(I5)FHERHBED 1,462 3 3 37 35 18 4 5 18 2 37 6 1 17 16 4 3 2
(1)+(5)+(9)
16) FRIAIRES
2] (1e)FHEIEEN 957 1 3 23 21 14 2 5 15 1 23 5 0 11 10 2 2 0
(2)+(6)+(10)
(17)FRIEtER
(16)/(15) 65.5%| 33.3%]100.0%| 62.2%| 60.0%| 77.8%| 50.0%| 100.0%| 83.3%| 50.0%| 62.2%| 83.3%| 0.0%| 64.7%| 62.5%| 50.0%| 66.7%| 0.0%
. 18) IR ALY
g (18)REZRPHEL 2,430 6 10 70 87 28 10 14 30 3 45 7 5 37 24 9 6 1
(1)+(7)+(11)
19 &
ES57 (O)REEHEED 970 1 3 37 31 9 3 8 19 0 18 4 2 12 6 5 4 0
(3)+(8)+(12)
(20)EHEIREK
(19)/(18) 39.9%| 16.7%| 30.0%| 52.9%| 35.6%| 32.1%| 30.0%| 57.1%| 63.3%| 0.0%| 40.0%| 57.1%| 40.0%)| 32.4%| 25.0%| 55.6%| 66.7%| 0.0%
- 21)IBERTE SIS E
st |(GVERERESIEEE 819 1 3 18 26 10 3 6 19 0 14 4 0 9 5 3 3 0
(4)+(10)+(12)+(13)
22)REIRTESIRE
BIRE (%) ( )(}i ?;fi ?%X 32.2%| 16.7%| 30.0%| 25.0%| 28.9%| 34.5%| 30.0%| 42.9%| 59.4%| 0.0%| 27.5%| 57.1%| 0.0%| 23.7%| 20.8%| 33.3%| 50.0%| 0.0%




